KAMBALA

Extension 1 Mathematics
Year 11 Preliminary Course
Assessment Task #2 — Trigonometry

June, 2002

Syllabus Topics to be covered in this tagk : 5.0-3.35
E5.6 -E5.9
Syllabus Outcomes to be addressed in this task : P3, P4, P5

PEl, PE2, PEG

¢ Time allowed is 45 minutes )

¢ There are 3 questions, each worth [2 marks

» The mark value of each part is indicated in {...] next to that part
¢ Start each question on a new page

* A trigonometric Formula Sheet is enclosed

Question 1: (Start a new page) [12 marlks]

(a) Find the exact yalues of :

o sin210° (1]

(i) sec315° [2]

e 2r

ignf) tﬂnT [2)
(b) (i) Sketch the graph of y =cosx for 0<x <27 . 2]

(ii) State the period and ﬂm'plilude of y=cosx . [2]
(c) Solve the equation 4cos*ar—3=0 for 0° < o < 360°. [3]
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Question 2: (Start a new page)

(1) Simplify ;
1) sin3xcos2x -cos3xsin2y |

" 2tanl5°

(i) e
i I-tan®15°

.3
(b) Prove that mnO—M=sin9.0039 .
cosh

- 2
(c) If v is obtuse, and (uny=—§ , find the exact value of :
(i) cosy .

(ii) . cos2y

=~
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Question 3: (Start a new page )

N\,

V341
w2

that the exaclt value of cos}5° =

()] Point X is due south and point Y is due west of the fool F
of a mountain TF of height h. From X and Y, the angle

of elevalion of the top of the mountain T are 35° and 43°
respectively,

6] Show that XF =h.tan55° and YF = h.ian47° .

(if) If X and Y are 1200 melres apart, show that the height i
of the mountain is given by the formula :

. 1200
\/(la|1’55°+ tan’ 47°)

‘,i,(/:l)i Given the expansion  cos(ar~ ) =cosa.cos f+sina.sinff show

(c) In A ABC, £ BAC = 60°. Prove that %~ p? = c(c-b).

End of Task
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